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half are above it.
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fhacebook is a popular social networking website. Users can add friends and send
em messages, and update their personal profiles to notify friends about them-

selves and their activities. A sample of 10 adults revealed they spent the following
number of hours last month using Facebook.

Find the median number of hours.

- Note that the number of adults sampled is even (10). The first step, as before, is to

qrder the hours using Facebook from low to high. Then identify the two middle
times. The arithmetic mean of the two middle observations gives us'the median
hours. Arranging the values from low to high: -

1 3 -3 5 5 7 g 9 10 17J'-

The median is found by averaging the two middle values. The middle values are
5 hours and 7 hours, and the mean of these two values is 6. We conclude that the
typical Facebook user spends 6 hours per month at the website. Notice that the
median is not.one of the values. Also, half of the times are below the median and
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